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2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
S AIHE 23,178,458 23,000,028 178,430
=2 21,000 14,000 7,000
[ 38,178 38,178 0
Al 23,119,280 22,947,850 171,430
2ES SN0 0|2 Y B(ZELNINLY/NALE 1,042,764 1,035,664 7,100
Al)
=2 21,000 14,000 7,000
[ 38,178 38,178 0
Al 983,586 983,486 100
22 AFHEMH RS 255,096 247,996 7,100
2 9,000 2,000 7,000
[ 23,758 23,758 0
Al 222,338 222,238 100
KNEWEAAMG (EX) 3,300 2,200 1,100
=2 3,000 2,000 1,000
Al 300 200 100
201 Yty 3,300 2,200 1,100
=2 3,000 2,000 1,000
Al 300 200 100
01 At 22l H 3,300 2,200 1,100
O1.Y8t=2H| 3,300 2,200 1,100
K& THEANAIY Bt 3|
2= 3,300,000 3,300 2,200 1,100
=2 3,000 2,000 1,000
Al 300 200 100
XN=E2R(BEX) 6,000 0 6,000
=2 6,000 0 6,000
101 Q14 H 6,000 0 6,000
=2 6,000 0 6,000
04 JI2H2R2SEEL 6,000 0 6,000
OXNNZE He| olAH|(45%X) 6,000,0002 6,000 0 6,000
2 6,000 0 6,000
UCHAACHT] T4 2 S (ZEUX AL /AACXT]) 258,560 83,560 175,000
ArQIEE X XM 258,560 83,560 175,000
HMALBrarA b x] XA 87,640 62,640 25,000
401 AlZHIZ =2 75,000 50,000 25,000
01 Al&HI 75,000 50,000 25,000
OZ Yot ABFAACHT] SF=2 CCTVE AHHI
25,000,000 14l 25,000 0 25,000
Maorardctx) =& 166, 120 16,120 150,000
401 Al&HI 2 2CHY 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OYULHS UBHAACHT EtGS TAb 2|
150,000, 000! * 1Al 150,000 0 150,000
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SA-HH S (3A) - HFAY - BAES 0 &k o J1 3 o Hms2
#HSAAH(TAIHED)OIEH/IIE) 80,444 85,484 A5,040
JI2 2 (S AIHE D) 80,444 85,484 A5,040
Gk 67,200 72,000 4,800
202 01 67,200 72,000 £ 4,800
01 ZLH ot 67,200 72,000 4,800

OFRYDE 0l

AH 20,0008 *28% « 10 * 12 67,200 72,000 4,800
Qe x| 4,200 4,440 A 240
203 2 X bl 4,200 4,440 £240
04 RAREARFA 4,200 4,440 A 240
OFNEgLREAL (F2:209) 4,200 4,440 £ 240
SR (N 38 o0& 0 240 A 240
WEES(SAHD)(FELTANL/NALEA) 21,796,690 21,795,320 1,370
SHXE(SAIHE D) 20,896,690 20,895,320 1,370
v e 20| Ef 20,896,690 20,895,320 1,370
802 BHet 2 I 20,896,690 20,895,320 1,370
01 2nEx3uez 1,370 0 1,370
OXI = T Z AFAF (01 X}) 1,200,0002 1,200 0 1,200
OZESZAHXLMH AL (0IX) 70,0002 170 0 170




